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Comparison and analysis of incremental encoder and absolute encoder
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[ Abstract] The low velocity performance of tracking must be high when telescope tracking star.So we
should choice proper encoder.Star’s turning velocity is nearly 0.004°/s.When the servo loop’s sampling fre—
quency is 800Hz the encoder’s resolution must be 26 bit ,that can meet the velocity measurement’s re—
quire.But the best absolute encoder made in china is 24 bit so we use the Renishaw’s 26 bit incremental
encoder.We havn’t the condition to directly test it’s performance so we can obtain it’s performance form
comparison and analysis of incremental encoder and absolute encoder.Through the test we can draw the

conclusion that 26 bit incremental encoder have higher performance than 24 bit absolute encoder.
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